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l. Solve:

A. Estimate the following by rounding off to the nearest 10.
: AN ar
MRERG=5930 2 IWA b) 6875 —4586 = L2 FO

B. Estimate the following by rounding off to the nearest 100.

—_—

a) 3760 —1782=2000 b) 5982 — 3650 — 23006
C. Estimate the following by rounding off to the nearest 1000.

a) 4992 — 4559 - ;’ b)El1 855 — 1020 = I DOO
D. Subtract the following numbers.

a) 6836and 8959 = 2) 22

Netmms

—1 o /) N =4 ) Z
b) Takeaway6305 from 7243 — | 2. Y S A4 i = —-f’/

E. Solve the following.

!J f 3 p 1 \ o s
a) 3569%2494-1241-4635 = T(2AYf = HM L1544 VT4 B

Il. Do as directed.

A. Subtract the following numbers.

e ©
e
= 2 7 3
a
£ T N
B.Find the difference.
ihEa e Tk -0
8 4 9 8
= ) Fones
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b) 6745+3621-9825+2626 &7 YA 2|+ b2k~ gD 2]
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C. Subtract the following numbers.

gLl g
L SEEL IS 2
\ .7 f: kx" "r
D. A cinema hall had 2400 tickets. It sold 1924 tickets . How many tickets are yet to be sold?
| I oLss
S Yo
! ] > cr | b R \ 7 i \ <) X
ANS. tl u‘\f V‘e'{ \_)g ,\_( (\ {64‘ [4 J\(_ R PrASS \ ‘ )
N anmbes o0 A4 CleeA | 4 - a é‘ 2 2.
Nust wen oF i creds yetdohe - gl Y7 2
SO /“"-c NE e 17/3 -z C-"/-‘.i’ A \Jl ¢ a4 Y i
E. Subtract the sum of 6432 and 1572 from the sum of 5468 and 8542, : At3 N
I 3 4 4 7 ¢ \J .
ans. Tine Swee of S YL@ and a5 1dr A O
Thetam ofF 64372 aod 18577 — 2004
The d5 erence Lehdeea [ygiaiond |— PP
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